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QUESTION 1

The IBM embedded document store should be considered based on which business requirement? 

A. Document is not accessed during the process 

B. Coaches should be able to display the documents 

C. Lifecycle of the document needs to be tied to the process 

D. Documents need to be retained long after the process instances are deleted 

Correct Answer: C 

 

QUESTION 2

What is a valid logging command to print log statements to the client-side browser? 

A. print.log(`\\'info") 

B. debug.log("info\\'\\') 

C. client.log(`\\'infon\\'\\') 

D. console.log(`\\'info") 

Correct Answer: D 

 

QUESTION 3

How can a developer improve the load times and performance of a table built with BPM Ul controls? 

A. Place the table in a Modal Section. 

B. Place the table in a Response Sensor layout. 

C. Change the columns\\' "renderAs" setting to \\'Simple HTML\\' wherever feasible. 

D. Replace the implementation to use a repeating layout instead of a table implementation. 

Correct Answer: A 

 

QUESTION 4

A developer receives the following requirement request when configuring documents and folders for an IBM BPM
process: 

1.
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 Create the ECM folder structure automatically from IBM BPM 

2.

 Change the Root Process Folder to be managed by the ECM System 

3.

 Create a folder structure that has some BPM managed documents and folder along with some ECM managed
documents and folders 

What is an appropriate response to this request? 

A. All requirements are feasible. 

B. Only requirement 3 is feasible. 

C. Only requirement 1 is feasible. 

D. Requirements 1 and 3 are feasible, but 2 is not. 

Correct Answer: B 

 

QUESTION 5

What will happen when sequence flows evaluate to false in an inclusive gateway? 

A. The instance will never complete. 

B. The default sequence flow will be followed. 

C. A failed event will be created for the process instance. 

D. The gateway will wait for one of the sequence flows to become true. 

Correct Answer: B 

 

QUESTION 6

A process includes an implementation that requires the port number for an external application. Which variable should
be used to set the port number for each environment in which the process will run? 

A. Global Variable 

B. Environment Variable 

C. Exposed Process Value 

D. Exposed Process Variable 

Correct Answer: B 
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QUESTION 7

A loan application process has several activities. A developer noticed a Service Flow activity in that 

process is taking a long time to complete. That particular Service Flow implementation has a Linked 

Service Flow activity and few other activities in it. 

What can the developer do to improve the performance of the Service Flow? 

A. Enable caching of results for the top level Service Flow. 

B. Attach a timer boundary event to the top level Service Flow. 

C. Add tracking events before and after the top level Service Flow. 

D. Assign pre-execution and post-execution scripts for the top level Service Flow. 

Correct Answer: A 

 

QUESTION 8

What is a valid reason why a development team might consider designing a process application with an externalized
Ul? 

A. The IBM BPM Ul toolkit does not work on mobile devices. 

B. IBM BPM does not provide a Ul framework that works with integrated systems. 

C. The IBM BPM Ul framework requires an additional software purchase in addition to IBM BPM. 

D. An organization might need to embed task list and human activity into existing systems instead of using the IBM BPM
Ul framework. 

Correct Answer: D 

 

QUESTION 9

Which statement describes using a Service Call control from the BPM Ul toolkit to invoke a service flow? 

A. It is used to invoke a service without having to use boundary events and has an input and output variable with on
load, on invoked, on result, on error events. It can be placed in client side human service coach page or inside coach
view. 

B. A Service flow which has an input and output variable and a service task activity inside it calling an implementation
service. 

C. It is used to invoke a service that returns the data displayed in the table, never bound to variable, with on load, on
service data loaded, on service data error events. It can be placed in client side human service coach page or inside
coach view. 

D. It is coupled with the human service in which it is used. It is created in the library area where User Interface library
items are stored. 
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Correct Answer: B 

 

QUESTION 10

Which statement is true regarding the Tab index configuration option? 

A. It sequences each Tab dynamically for the Tab control. 

B. It flags the control to display with the warning color. 

C. It only works when the Coach is set to Responsive mode. 

D. It sets the sequence index for the control on the form when the user presses their Tab1 keyboard button. 

Correct Answer: A 
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